
Algorithm 2: Configuration Tree Creation 
1: function create_tree (total_width, parent_node, )
2:  	loop for all product  with 
3:   		if ( total_width +  ) 
4:  	    	    create a node for  under parent_node 
5:  	     	     total_width = total_width +  
6:  	     	     parent_node = created node for 
7:  	     	     function create_tree (total_width, parent_node, )
8:  		end if
9:  	end loop
10: end function
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create_tree (0, dummy, 1070) creates  the following configurations:
Configuration 1:   
Configuration 2:   
Configuration 3:   
Configuration 4:   
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